16 OOOOOO

16.1 UO0O0OO0OOOOO0OOO

gbboooboooobooobooobooobooobooobooobooboooboooboooon
gbobooooobobooooobooboboboooobooooooboobooooooboOobooon
gooooboobooooooobooboboobooobooooobooobooobooooboobooo
gbooooboboooooboooobobooog

16.2 U0O0O0OO0OOOOO

oorTrooooooooObD QUoooooOooooOo0ooooOoooooooooooooooo

w-afi-2)

000000000000 0000007, 000000000000000000000000
000000000000 00000000000000000000000000000000
godoooooooooooooooooooooooooooooooooooooooon
0000000 0000000 00000000
Q/T=AS00QUOD0O00D0DNC0O0OODNOONNONONONONNONDNONONDNONDNOONNOOC
00

W =Q - TyAS (13)

gboooobooooogd
gbobobooooooboooboobooboobboooooobooboOooboooboooon
oboooooobooboooobooboo

[

gbooogbodooobodgboooogbdgooooaooooagoan
dQ
AS= | — 14
|5 (1)

goooooo (IS)DDDDDDDDDD
0000000 o00oDodooooooDOoo0oDOoDooD QUODOooDoOooOooog AS,
00000000 QOOOOD0D00D0ODOO AS,000000000000000000
000
W =Q — TyAS,

oood
0000000000 QOUOO0TASO0DDO0O0OO0OOO0OOOoDOooOoOooD (oo)oo
gbooogoo

16.3 UUOOOOO

gboboooobooooooobooobooboooooooboooboooooobooboooon
gboooooooboobooboooooon

14



goooobooobbooobooobooboobooobooobooooobooooDooDboboOooo
gbooboooboobooboobooobooobooboobobooooooboooobooboboobooon
gboooooooooooboooooobooooooooboooooboooboobobooobooon
000000 (H,S)00D0o00o00oO0o0oo0o0oooU0o0D (13)Do0oooooooooo

E = (H — Hoy) — To(S — So) (15)

0000 Hy,So OO00ODO0OOOO0O0OOOOO0O0ODOODODO0OO0ODODOO0ODODOOOODDOO
gboooobooboooooboooon
O000000000000dH =GepdI, dS=G(cp,/T)dTr 000000000

T T
E=Gep(T—Ty) —GepToln | = | =Gep | T —Tp —Toln | — (16)
To To
000000000000000000 H-HyOOOODODOOOO0OOO0OOoOO0O0O To(S—So)
0000000000000 0000000000U00000unT(S—-S,)ooooooooo
goooooood

(000O0D0D0)=(000000)—(00000)

16.4 U0OU0O0OOOOOO

000000 OO0 40000 kJ/kg 0000 1kg/s 00000000 1.428 kJ/(Nm? K)
000 14 Nm®/s 0 20000 20200 00000

40000 kJ/k
1 kg/s g\ N
ER RIS R
20 °C 2020 °C
14 Nm3/s 14 Nm3/s
E> PRI |:>
) ‘\
1500 C \\A e
FEIBRRE 20 °C ?

o s&oooood

gbooooog
0000000000000 0000000m 1 x 40000 = 40000 kJ/s O
0000000000 14x 1.428 x (293 -293) = 0 kJ/s
000 40000 kJ/s 0O OO

gobogoooon

0000 (00D0000000)0 14x 1.428x (2293 - 203) = 39980 kJ /s
00000000000D00000000 20k)/s0000000000000000

15



gbooooooooon
000000000O000D 40000kJ/s000000000OOOOCOOOOOOOODOOOO
obooooog
gbooooboboobooobooboooobob 200000b00b000DODO

E =14 x1.428 x |2293 — 293 — 293 x In <222533ﬂ = 27932kJ

000012068 kJ/s (30 %) DO ODOODOOOOOOOODOOO
gbobooooboooboboobooooboooboobooboooboobooobobooboooobooo
gboooooobooooooo

0000000 A 0020200 0 00 1.428kJ/(Nm3 K) 00000 14 Nm®/s O 500
0 000000000000009.0 MPa 1500 00 (h=637.5 kJ/kg, s=1.8323 kJ/(kg
K)) 10 kg/s 0 9.0 MPa 6180 00000 (h=3675 kJ/kg, s=7.0067 kJ/(kg K)) 00
000 (0000000 h=84.0 kJ/kg, s=0.2963 kJ/(kg K) )

A7 ORER
N 1000 °C/ ?
ot 6 : PR35 2
14 Nm3/s E,‘> 500 °C
---------- = T X
BEES $ITo—)
9 MPa K
618°C 9 MPa

150°C
10 kg/s
FBERE 20 °C

090000000 A

oboooooboooon
000000000000 14 x 1.428 x (2020 - 20) = 39980 kJ/s O
000000000 10x (637.5 - 84.0) = 5535 kJ/s
00 45515 kJ/s 0000

gbooogobooon
000000000000 14 x 1428 x (500 - 20) = 9596 kJ/s O
0000000000 10 x (3675 - 84.0) = 35910 kJ/s
00 45506 kJ/s D OO0

000 13kJ/s00000000000C0OOO0OOO0OO0OODOO0OOOOOUOO

000000000000000000
0000
000000000000 14 x 1.428 x [2293 - 293 - 203 x 1n(2293/293)] = 27932 kJ /s
000000000 10 x [637.5 - 84.0 - 293 x (1.8323 - 0.2963)] = 1035 kJ /s

00 28967 kJ/s 0000

16



0ooo
000000000000 14 x 1.428 x (773 - 293 - 293 x In(773/293)] = 3914 kJ /s O
0000000000 10 x [3675 - 84.0 - 293 x (7.0067 - 0.2963)] = 16249 kJ /s

00 20163 kJ/s 0000

000 803kJ/s 00000000000 DOOOOOUDUODOOOOULODOUOODOOOO
000000 30% 0000000

goooooooobooobboobooooooobooboooboooooobooooboobobobOooo
gboooobooboooo

0000000 B 000000000000000000000

0020200 0 00 1.428 kJ/(Nm3 K) 00000 14 Nm?/s 0 4200 0000000
00000009.0 MPa 1500 00 (h=637.5 kJ /kg, s=1.8323 kJ/(kg K)) 10 kg/s O
9.0 MPa 550 0 00000 (h=3510 kJ/kg, s=6.814 kJ/(kg K)) 0O D00 (00000
00 h=84.0 kJ/kg, s=0.2963 kJ/(kg K) )

7 TRER
o 1000 °C / ?
s 6 5315 2
14 Nm3/s |:> E> 420°C
---------- S \
BERES HITHo—I
9 MPa K
550°C 9 MPa

150°C
10 kg/s
JEBERE 20 °C

0 l1:0000000 B

gboooooooon
000000000000 14 x 1.428 x (2020 - 20) = 39984 kJ/s O
000000000 10x (637.5 - 84.0) = 5535 kJ
00 45519kJ/s 0000

gboooobooon
000000000000 14 x 1.428 x (420 - 20) = 7997 kJ/s O
0000000000 10 x (3510 - 84.0) = 34260 kJ
00 42257 kJ/s 0000

000 3262kJ/s 000000000000 O0OO0OOOOOO 72% 0000

obooooooooobooooboo
00000000 0OOooOO 28967 kJ/sO000O0O

oooo
000000000000 14 x 1.428 x (693 - 293 - 293 x In(693/293)] = 2954 kJ /s O

17



0000000000 10 x [3510 - 84.0 - 293 x (6.814 - 0.2963)] = 15163 kJ /s
00 18117 kJ/s 0000

000 10850kJ/s 000000000000 ODO0O0OOD0O0O0OOO0O0OO0O0OODO0OOOOO0
000000 3262k]J/s0000000000O0OOODDOOOOOO0OUOOOOOOODOOOO
00 10000 (1273 K)0oO0OooooOoO
0000000000000 00 3262 x (1-293/1273) = 2511 kJ/s
0000000 8229kJ/s0000000000DO0O000D0O0DOULO0ODOOO0OOO (DDOUDO
00o00ooO0oO00oooO0o0ooOoOooooOooooooon)o

0000 00 9.0 MPa OO 5500 00000 (h=3510 kJ/kg, s=6.814 kJ/(kG k))
00000000000000000000000 6.0 MPa 00 5400 (h=3510 kJ/kg,
s=6.971 kJ/(kG k)) 00000

/,7 R
o e 540 °C / ? N
6 MPa
530°C

10 kg/s
|:> BB |:>

FEEE 20 °C

0 11:-g00b00bo0oo0obon

gooooobooooboboboooboboobobooooboooboooooboobbooooboooboboooo
ugb,b00000000000000

000000000000 10 x (3510 - 84.0) = 34260 kJ/s
000000000oo0O 10 x (3510 - 84.0) = 34260 kJ/s
gboooboboboooboobooooboboobooboooboooDo

gbobooobooboboobooobooooboooboooooooboooooooboooon
gboooobooboooooboboooooboboooboOobooooobooboooOoboon

000000000000000000
000000000000 10x [3510 - 84.0 - 203 x (6.814 - 0.2963)] = 15163 kJ /s
000000000000 10 x [3510 - 84.0 - 293 x (6.971 - 0.2963)] = 14703 kJ /s
0000460kJ/s 000000000000 (3%)0
0000000000000000000000000000000000000000000
0000000000000000000000000000000000
000000000000000000000 AS*0000000000000 LW OoOO
oooooooooOoO0
LW =TyAS* (17)

18



000 0O0=0000 (Gouy=Stodola) 0000000 D0OOO0O0OODOODOOOOOODO
gboooobooboooobooooooon

gboooooooboobo OoooooooboooobOobOobOobobOOobOOobOoooooono
goooobooooooooooobooooooooooooobboooobogobboooobooo
gbooooboboooboobooooboooboobobooooboooboooboooobooobooon
gbbooobooboobooobooboooooboooooan

gbooooobooooboobobooobobooboooooobbooboooobobobooboboooon
gboooopooboooooooon

gbooooobooobooooboooboooobooobooooooooboboooboOoobooon
goooobooogoooobobooooboobobooboooooboooobooooboooobooboobobooon
gooooboooooooooooooooooooooooooooobooobboooooo
gbooooobooooooobooobooboobooooboooboooboooooooobooono
gboooobooooooboooooooooboooboOooboboobooobooooooooboobooboon
goobooobooboooooboboooobooboboooboboooon

gboboobooboooobooobobooooooboobooooboooobOooboooo
gbbooooooooooooboooobooboobooboobobooobooboooboooooaoon
gboooooooboooooooobboobooooooobooooboooooooboOoooboboon
gobooooooobooobogboooobobooooobooboobooboooooo

19



